
Foundation IGCSE (9 – 1) Revision Pack
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Name --------------------------------

Questions

Q1.
 
Here are six numbers.
8     3      1      7      6      5
Work out the mean of these numbers.















...........................................................

  
(Total for question = 2 marks)


Q2.

The table shows information about the mark scored on an examination question by each
 of 40 students.

(a) Which mark is the mode?




...........................................................
(1)
(b) Find the median mark.





...........................................................
(2)
(c) Work out the mean mark.








...........................................................
(2)

(Total for question = 6 marks)


Q3.
 
Here are the number of runs scored by a cricket player in each of 9 games of cricket.
13        89        36        8        4        55        40        22        16
(a)  Find the median number of runs.








 ........................................................... 
(2)
(b)  Work out the range.



 ........................................................... 
(2)
 
(Total for question = 4 marks)
 



Q4.
 
The temperature at midnight in Oslo on 31st January 2015 was −7°C The temperature at midnight in Athens on 31st January 2015 was 20°C higher than the temperature in Oslo.
(a)  Work out the temperature at midnight in Athens on 31st January 2015





...........................................................°C
(2)

Here are the temperatures in Madrid at midnight for one week.

−7°C          −6°C          −1°C          4°C          0°C          0°C          3°C

(b)  Work out the mean temperature.





...........................................................°C
(2)

(c)  Work out the range.





...........................................................°C
(2)

 
(Total for question = 6 marks)
 




Q5.

Three positive whole numbers have a mean of 4 and a range of 7
Find the three positive whole numbers.











................... .................... ...................

(Total for question = 2 marks)


Q6.
 
Ben throws a dice 20 times. 
He records the score for each throw. 
Here are his scores.



(a)  Complete the frequency table for his scores.


(2)
(b)  Write down the mode of his scores.
...........................................................
(1)
(c)  Find the range of his scores.





...........................................................
(1)

Ben throws the dice again.
(d)  Draw a circle around the word in the box that best describes the likelihood that his score will be 6.


(1)

  
(Total for question = 5 marks)


Q7.
 
Ian plays 7 games of cricket. 
His mean score per game for these 7 games is 42 runs.
Ian is going to play one more game of cricket. 
He wants his mean score per game for the 8 games to be exactly 50 runs.
How many runs must he score in his 8th game?















 ........................................................... 
 
(Total for question = 3 marks)
 

Q8.
 
The mean of four numbers is 2.6 
One of the four numbers is 5

Find the mean of the other three numbers.










...........................................................
  
(Total for Question is 3 marks)


Q9.
 
The table shows information about the times, in minutes, taken by 50 people to get to work.


Work out an estimate for the mean time taken to get to work.






........................................................... minutes
(Total for Question is 4 marks)



Q10.
 
Zara must take 5 tests. 
Each test is out of 100 
After 4 tests, her mean score is 64%.
What score must Zara get in her 5th test to increase her mean score in all 5 tests to 70%?















...........................................................
(Total for Question is 4 marks)


Q11.
 
Rayna has a fair 4-sided spinner. 
The spinner can land on 3, 5, 7 or 9



Rayna spins the spinner 20 times. 
She records the score for each spin. 
Here are her scores.





(a)  Complete the frequency table for these results.


(2)

(b)  Write down the mode of her scores.



...........................................................
(1)

(c)  Find the range of her scores.



...........................................................
(1)

Rayna says that 3, 5, 7 and 9 are all prime numbers.
(d)  Explain why Rayna is wrong.

.............................................................................................................................................
.............................................................................................................................................
(1)



Rayna now spins her spinner twice. 
She adds the two numbers together to get the total.
(e)  Complete the table to show the total for each possible outcome. 
Five of the totals have been done for you.


(2)

Rayna spins the spinner twice.
(f)  (i)  Write down the probability that she will get a total of 10





...........................................................

(ii)  Write down the probability that she will get a total greater than 12





...........................................................
(3)

 
(Total for question = 10 marks)
 



Q12.
 
The table gives information about the number of vehicles passing a point on a road in 
each of 70 intervals of equal length.

Calculate an estimate for the mean.













..........................................................
  
(Total for question = 4 marks)



Q13.

The table shows information about the weights of 80 parcels.

Work out an estimate for the total weight of the 80 parcels.































............................................................kg

(Total for question = 3 marks)



Q14.

The table shows information about the snowfall in Ottawa in January one year.

Work out an estimate for the total snowfall in January.










........................................................... cm

(Total for question = 3 marks)


Q15.

The table shows information about the amount of money, in dollars, spent in a shop in
 one day by 80 people.

Work out an estimate for the total amount of money spent in the shop that day.







............................................................dollars

(Total for question = 3 marks)

Q16.
 
Julie asked 50 children how many exercise sessions they each took part in last month. 
The table shows information about her results.



Calculate an estimate for the total number of exercise sessions the children took part in last month.




















...........................................................

 
(Total for question = 3 marks)
 



Q17.

Six numbers have a mean of 5
Five of the numbers are

The other number is x.
Work out the value of x.









x =...........................................................

(Total for question = 3 marks)


Q18.
 
Kim asked 40 people how many text messages they each sent on Monday. 
The table shows her results.

Kim is going to draw a pie chart for this information.
(a)  Work out the size of the angle on the pie chart for the sector representing 0 to 4 text messages.





...........................................................°
(2)
(b)  Write down the modal class.


...........................................................
(1)
(c)  Calculate an estimate for the mean number of text messages sent.









...........................................................
(4)

(d)  What percentage of these 40 people sent 20 or more text messages?









........................................................... %
(2)

 
(Total for question = 9 marks)
 

Q19.
 
The mean height of a group of 6 children is 165 cm.
One child, whose height is 155 cm, leaves the group.

Find the mean height of the remaining 5 children.










........................................................... cm
 
(Total for question = 3 marks)
Q20.
 
The table shows information about the numbers of fish caught by 40 people in one day.

Work out the mean number of fish caught.












...........................................................
 
(Total for question = 3 marks)
 



Q21.

The table shows information about the marks of 20 students in a science test.

Work out the mean mark of the 20 students.





...........................................................

(Total for question = 3 marks)


Q22.
 
There are 32 students in Mr Newton's class.
20 are boys and 12 are girls.

The mean height of the boys is 151 cm.
The mean height of the girls is 148 cm.

Calculate the mean height of all the students in Mr Newton's class.













........................................................... cm
 
(Total for question = 3 marks)
Q23.
 
The table gives information about the numbers of goals scored by a football team in 30 matches.



(a)  Find the median number of goals scored.










...........................................................
(2)

(b)  Find the mean number of goals scored.










...........................................................
(3)
  
(Total for Question is 5 marks)



Q24.
 
Here are 6 cards. 
Each card has a number on it.



(a)  Find the median of the numbers on the cards.





...........................................................
(2)

Uzma places two extra cards next to the six cards.



She wants the mean of the numbers on the 8 cards to be 4 
She wants the range of the numbers on the 8 cards to be 9
(b)  Find the numbers that she should write on the two extra cards.





........................... and ...........................
(3)

 
(Total for question = 5 marks)
 



Q25.
 
Jordan's school awards certificates for outstanding work. 
The table shows information about the numbers of certificates awarded in Jordan's class during a term.



Work out the median number of certificates awarded.










...........................................................

  
(Total for question = 2 marks)



Q26.
 
Mr Rowland has a class of 30 students. 
He gave them 24 words to spell. 
The table shows information about the number of correct spellings for each student.



(a)  Write down the modal class.



...........................................................
(1)

(b)  Work out an estimate for the mean number of correct spellings. 
Give your answer to 1 decimal place.










...........................................................
(4)

 
(Total for question = 5 marks)
 



Q27.
 
The frequency table shows information about the distances 60 office workers travel to work each day.

(a)  Write down the modal class.
 ........................................................... 
(1)
(b)  Work out an estimate for the mean distance travelled to work by these office workers.
Give your answer correct to 1 decimal place.










 ........................................................... km
(4)
 
(Total for question = 5 marks)
 



Q28.
 
The table shows information about the lengths, in cm, of 40 leaves.

(a)  Write down the modal class.
 ........................................................... 
(1)
(b)  Work out an estimate for the mean length of the 40 leaves.
Give your answer correct to 1 decimal place.










 ........................................................... cm
(4)
 
(Total for question = 5 marks)
 



Q29.
 
The table gives information about the weights of 20 rugby players.

(a)  Write down the modal class.
 ........................................................... 
(1)
(b)  Work out an estimate for the total weight of these 20 rugby players.
















 ........................................................... kg
(3)
 
(Total for question = 4 marks)
 



Q30.

In a survey, Wendy asked nine of her friends how many foreign countries they had visited.
 Here are her results.

(a) Find the mode of her results.




............................................................
(1)
(b) Work out the mean of her results.




............................................................
(3)

(Total for question = 4 marks)



Q31.
 
Here are 9 cards. Each card has a number on it.


(a)   Write down the mode of the numbers on the cards.
...........................................................
(1)

(b)   Work out the median of the numbers on the cards.
...........................................................
(2)

Sally takes at random one card.
(c)


Write down a word from the box that best describes the probability of each outcome.
(i) Sally takes a card with the number 6
...........................................................
(ii) Sally takes a card with the number 5
...........................................................
(2)

(d)   Here is a probability scale.


Write down the letter of the arrow that points to the probability that Sally
(i) takes a card with the number 8
...........................................................
(ii) takes a card with a number greater than 0
...........................................................
(iii) takes a card with an even number.
...........................................................
(3)

(Total for Question is 8 marks)


Q32.
 
The table shows information about the number of eggs in each of 40 birds' nests.

(a)  Write down the mode.



 ........................................................... 
(1)
(b)  Find the median.
 ........................................................... 
(2)
(c)  Work out the total number of eggs.







 ........................................................... 
(2)
One of these nests is chosen at random.
(d)  Find the probability that there are more than 2 eggs in the nest.



 ........................................................... 
(2)
 
(Total for question = 7 marks)
 

Q33.
 
Becky counted the number of matches in each of 50 boxes. 
The table shows information about her results.



(a)  Write down the mode of the number of matches.
...........................................................
(1)

(b)  Work out the range of the number of matches.

...........................................................
(2)

(c)  Work out the mean number of matches.

...........................................................
(3)
 
(Total for question = 6 marks)

Q34.
 
Here are the number of goals scored by a netball team in each of its first 9 games of the 
season.
5          8          5          2          2          1          3          2          8
(a)  Find the mode.



...........................................................
(1)
(b)  Work out the range.



...........................................................
(2)
(c)  Work out the mean number of goals scored.




...........................................................
(2)
(d)  The number of goals scored by the team in its 10th game was 7
(i)  Will the mean number of goals scored in all 10 games be more, less or the same 
       as the mean found in (c)?

(ii)  Give a reason for your answer.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
(2)
  
(Total for question = 7 marks)



Q35.
 
Becky has a biased 6-sided spinner. 
She spins the spinner 25 times. 
She records the score for each spin. 
The table shows information about her scores.
                                                
(a)  Which score is the mode?

...........................................................
(1)
(b)  Work out the range of her scores.
...........................................................
(2)
(c)  Find her median score.
...........................................................
(2)
(d)  Work out her mean score.




...........................................................
(3)
Becky spins the spinner one more time.
(e)  Find an estimate for the probability that the spinner will land on the number 4


...........................................................
(2)
 
(Total for question = 10 marks)

Q36.
 
The table shows information about the number of pets owned by each of 25 people.



(a)  Work out the range of the number of pets.





...........................................................
(2)

(b)  Work out the median number of pets.





...........................................................
(2)

 
(Total for question = 4 marks)
 



Q37.
 
Here are Mika's scores in nine French tests.

6         7         6         9         8         6         4         10         9

(a)  Find the range of her scores.








...........................................................
(2)

(b)  Find her median score.








...........................................................
(2)

Here are Ryan's scores in nine French tests.

4         6         4         7         8         a         6         7         7

The mean of Ryan's nine scores is 6

(c)  Work out the value of a.








a = ...........................................................
(3)
  
(Total for Question is 7 marks)
Q38.
 
Here are the distances cycled, in km, on the first 6 days of the 2015 Tour de France cycle race.

(a)  Work out the range of these distances.
 ........................................................... km
(1)
(b)  Work out the median distance.



 ........................................................... km
(2)
Michel says,
"The median is a better average to use for these 6 distances than the mean."
(c)  Explain why Michel is right.
 ............................................................................................................................................. 
 ............................................................................................................................................. 
(1)
 
(Total for question = 4 marks)
 


Q39.

Three positive whole numbers have a median of 7 and a mean of 5
Find the range of these three numbers.







...........................................................

(Total for question is 3 marks)



Q40.
 
Three integers have a mean of 7, a median of 5 and a range of 14
Find the three integers.










 ..........................................   ................. 
 
(Total for question = 2 marks)
 


Q41.
 
Here is a list of numbers written in order of size.

3          6          x          y

The numbers
have a median of 8
have a mean of 11
Find the value of x and the value of y.












x = ...........................................................

y = ...........................................................

 
(Total for question = 3 marks)
Q42.

A group of students take a test.
 The group consists of 12 boys and 8 girls.
 The mean mark for the boys is 18
 The mean mark for the girls is 16.5
Calculate the mean mark for the whole group.








...........................................................

(Total for question = 4 marks)


Q43.
 
The table shows temperatures recorded on five planets.

(a)  What is the difference between the temperatures recorded on
(i)  Earth and Mars,



 ........................................................... °C
(ii)  Jupiter and Mars?



 ........................................................... °C
(2)
A temperature recorded on Pluto is 693°C less than the temperature recorded on Venus.
(b)  Work out the temperature on Pluto.



 ........................................................... °C
(1)

(c)  Work out the mean of
458           14           −55           −153           −214






 ........................................................... 
(2)
 
(Total for question = 5 marks)
 


Q44.
 
w, x, y and z are 4 integers written in order of size, starting with the smallest.
The mean of w, x, y and z is 13
The sum of w, x and y is 33
(a)  Find the value of z.










z = ...........................................................
(2)
Given also that the range of w, x, y and z is 10,
(b)  work out the median of w, x, y and z.







...........................................................
(2)
 
(Total for question = 4 marks)
Q45.
 
Three positive whole numbers are all different. 
The numbers have a median of 8 and a mean of 6 
Find the three numbers.









...........................................................
 
(Total for question = 2 marks)


Q46.
 
Ahmed, Beth and Cleo are three friends.
The mean age, in years, of Ahmed, Beth and Cleo is 21 
The mean age, in years, of Ahmed and Beth is 19
(a)  Work out Cleo's age.









 ........................................................... years
(3)
Ahmed is the youngest of the three friends. 
The median age, in years, of the three friends is 20
(b)  Find the range of their ages.






 ........................................................... years
(3)
 
(Total for question = 6 marks)
Q47.
 
30 students in a class sat a Mathematics test. 
he mean mark in the test for the 30 students was 26.8
13 of the 30 students in the class are boys. 
The mean mark in the test for the boys was 25
Find the mean mark in the test for the girls. 
Give your answer correct to 3 significant figures.















 ........................................................... 
 
(Total for question = 3 marks)
 


Q48.
 
The students in Class A and in Class B take the same examination.
There are 28 students in Class A and 32 students in Class B. 
The mean score for all the students in both classes is 72.6 
The mean score for the students in Class A is 75
(a)  Work out the mean score for the students in Class B.











 ........................................................... 
(4)
The lowest score in Class A is 39 
The range of scores for Class A is 57 
The lowest score in Class B is 33 
The range of scores for Class B is 60
(b)  Find the range of scores for all the students in both classes.












 ........................................................... 
(3)
 
(Total for question = 7 marks)
 

Q49.

A shop, Furniture 4U, had a sale.
(a) In the sale, normal prices were reduced by 15%.
(b) (i) Work out the mean number of letters in the first names of the 50 people.
(i) The normal price of a table was $280
Work out the sale price of the table.




$...........................................................
(ii) The normal price of a chair was reduced in the sale by $24
Work out the normal price of the chair.




$...........................................................
(6)
(b) Ruth, Suha and Yasmin went to the sale. 
The amounts of money spent by Ruth, Suha and Yasmin were in the ratios 2 : 3 : 7
Ruth and Suha spent a total of $320 in the sale.
Work out the amount of money Yasmin spent in the sale.





$...........................................................
(3)
(Total for question = 9 marks)
Mark Scheme

Q1.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 


Q2.

 



Q3.
 

 


Q4.
 

 


Q5.

 



Q6.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 
Q7.
 

 
Q8.



Q9.
 

Q10.
 

Q11.
 

Q12.



Q13.

 

Q14.
 
Q15.

 



Q16.
 

 


Q17.

 




Q18.
 

 

Q19.
 

 
Q20.
 

 


Q21.





Q22.
 
For all questions, the correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 
Q23.



Q24.
 

 Q25.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

Q26.
 

 Q27.
 



Q28.
 

 


Q29.
 

 



Q30.
 


Q31.
 


Q32.
 
Q33.




Q34.





Q35.
 
Apart from question 18c where the mark scheme states otherwise, the correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 


Q36.
 

 



Q37.




Q38.
 

 
Q39.


Q40.
 

 Q41.
 

 Q42.

 

Q43.
 

 


Q44.
 
For all questions, the correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.

 


Q45.





Q46.
 

 


Q47.
 

 



Q48.
 

 


Q49.
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adding to 350
list of 5 is identical to | 94 or 94% Al permitted answers as
list of 4 but also etc (as listed for Al above
contains 94 eg above
94,50,50,56,100 and
50.50,56.100
) M1
(70- 64) x 4 (=24) M
70+24 Ml deponM2 awarded
94 0r 94% Al pemmitted answers as
etc (as listed for Al above
above

Total 4 marks
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Question ‘Working Answer Mark Notes
45,47 2 | B2 for comect frequencies
a BI for at least 2 correct frequencies or
tallies
b 5 1 _[Bl Rfom@or9
< 1 [B1
@ cg3manciorol | 1 | Bl foridentfying 9 with a correct reason
o
e (6). 8. (10). 12 2 B2 BI for at least 4 correct entries.
8(10).12).14
(10).12.14.16
12.14.16.18
E S 2 B2 Blfor L witha<16or > withd
16 16 b
3 or 3 and 16 used with incorrect
sotation (eg. 3 : 16)
£ from complete table for numerator
only
i . T [BI £ fiom complete table for numerator
16 only

Total 10 marks





image51.jpeg
Ques Working Ans | Mark Notes

3x8+8x10 + 13x18 +18x20 + 4 | MI finds products / x consistently
23x10+ 28x4 or within intervals (inc end points) allow 1
24+80+234+360+ 230+ 112 error NB. products do not have to be
or evaluated

1040

MI (dep on first M1) —uses midpoints
TETIO A B0 B0 ] MI (dep on first M1) T =37
T noeseeoes

or

“1040” = (8+10+18+20+10+4)

15 All48*1490r14g

Accept 15 if full working shown

Total 5 marks.
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Working Answer

Notes

1x8+3x14+5x26+7x17+9x10

+11x5

or8+42+130+119+90+55

Tor finding at least
four products f x x
consistently within
intervals (inc end
points) and summing
them

(dep) for use of
halfway values

444

AT

cao

Total 3 marks
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Question

Working Answer |Mark |Notes

number
A9 xD)=19) + M2 for freqx all comect
83 midpoint values corectly
(x5 evaluated (condone

omission of 4% interval)
67| 3 {donothave to see
intention to add}

9

ifnot M2 then MI for freq
x consistent point in cach
interval

or M1 for 1 emror in.
list of 19,24, 15, (0), 9

Al iswif 67 calculated
comectly. (2.16..=M2AD)

Total 3 marks
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Question
Number

Working

Answer

Mark]

Notes

10 x 24, 30 x 20, 50 X
9,70 x 12, 90 x 15

10 x 24 + 30 X 20 +
50 X9 + 70 x 12 + 90
x 15

240 + 600 + 450 +
840 +1350

3480

MI_ at least 4 products X x
used consistently within interval
(inc end points)

Mi(dep) for S with use of at
least 4 correct 2 way values

AL

Total 3 marks
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Working

Mark

Notes

+124

3x13+10x10+17x
16+24xT+31x4
0r39+100+272+ 168

703| 3

M1 Forat least 2 products £ x x
consistently within intervals
(including end points)

M1 For completely correct method
(condone 1 error)

NB: Products do not need to be
evaluated

Al cao
Do not ISW to find mean
SC award 2 marks for 14.06 if no
other marks gained

Total 3 marks





image56.jpeg
Working Answer | Mark Notes
x5 (=30) or [
342+7+6+2(=20)
or (342+7+6+2+ “X")f6 w1

0| 3 |A1

-

Total 3 marks
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Question

Working

Answer

Mark

Notes

6~ 40 x 360 0.

ML

El

Al

01024
oe

Bl

246+ 7x3 +12x5 +17x12+22x14 or
12+21+60+204+308 or
605

M2

freq  all correct
‘midpoint values stated
(or evaluated) with
intention to add
(condone any fwo errors
in midpoints or
frequencies)

If not M2 then award M1
for all products £ % f (and
s consistently within
the interval, including
end values) and intention
to add (condone any two
ervors in their midpoints
or frequencies)

605" =40 or
2%6 + Tx3 + 12x5 + 17x12
6+3+5+12414

ML

dep on at least M1

Al

accept 15 or 15.1 or
15.13 from correct
working with no errors
(15 without working
gains MO A0)

NB. Accept 15.1625
(using 2.25 as mi-
interval in first class)

T4+40 100 o

ML

‘awazd MI for 26~ 40 <
100 or 65%

Al

Total 9 marks
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Question

Working

Answer

Mark

Notes

6 165 (=990)

(990"~ 155+ 5

167

M1

M dep condone missing
brackets
Al

Total 3 marks
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Question ‘Working Answer [ Mark Notes
201+ 12x1+15%2+8x3+2 5+ 1x8 (=84) Ml
or (2% 0) may be
[0]+12+30+24+10+8 omitted:
3 allow one
emror
84740 MI dep
NB. Products donot
have to be evaluated
21 Al

Total 3 marks
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Working

Answer

Mark

Notes

6x2+7x4+8x5+9x8+
10x1

or 12+28+40+72+10
or 162

M1

foratleast 3
correct
products and
summing
them

M1

(dep) for
division by 20

8.1

Al

Accept 8if
162+ 20 seen

NB: Award
A0if8.1
clearly comes
from incorrect
figures

Total 3
marks
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Working | Answer Mark
20 = 151 (=3020) or 3 Ml
12 % 148 = (1776) or
4796
(3020" +“1776") = (12 +20) or Ml dep
(3020" +*1776") = 32
149.875 Al for 149.875 rounded or

truncated to 1 or more decimal
places

Accept 150 if M2 awarded

Total 3 marks
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| Question | Answer| Mark Notes
@ MI  or clear attempt to find 15" and 16" values.
2 b |G
®) (0:2) + 110+ 2x7 MI M for 5 correct products stated or evaluated.
=346+ 433+ 5x2 M1 Dependent on first M1. Sum of the products / 30
647 =30
213rec| 3 |Al  Accept2.1 or better with no working

Accept 2 if both M marks awarded.

Total
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‘Question. ‘Working Answer Mark Notes.
Numbers in order 1. 2.3, 3.5, 5 2 |MI Ascendingor
@ descending, condone |
3 omission. Or an answer
of33
Al
® [Srdoriori+90ri0-1 3|
(145 +5+243 Ml A correct method to
or find the total of the 2
(B+1+45+5+243)+"10 missing numbers
3and 10 Al I MO scored then

SCBI for an answer of
fwo numbers with a
sum of 13 or two
numbers that give a
range of 9 for the §
cards

Total 5 marks
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Question ‘Working Answer | Mark Notes
449+7+146+3 M1  Condone 1 onission
—or 94741+6+3

2 B = —
(B+9+7+1+6+3)+1 S Accept a clear intention
2 2 to list the mumbers in
order and find the
003003 s orgsl centre of the it
2 2 2
2 Al

Total 2 marks
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Question

Working

Answer

Mark

Notes

(@)

15-19

®

Ix1+7%x5+12x6+17 x 10+22 x
8
or2+35+72 4170+ 176 or 455

Freq x midpoint values
stated or evaluated with

intention to

add

(condone any two errors
in midpoints or
frequencies).

If not M2 then award
MI for all products £ x
(and r is consistently
within the interval,
including end values)
and intention to add
(condone two erors)

2x1 +7%5 + 12x6 + 17x10 + 22x8
30

ML

(dep on at least MI) for

division by

30

‘accept 15.166.
rounded or truncated to
4 or more sig figs

Accept 15 with working

(15 without

working

gains MOAO)
NB: aceept 225 as mid-
point for mid-interval
value of 17 class (gives
mean 15.175)

Total 5 marks
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‘Working Answer | Mark Notes

@ 30<d<40[ 1 [Bl [Accept30-40
®) [ 575+ 15x12+25<17 + 4+ |M2 [fxdforatleastd
35%20 +45%6 or products with correct
5+ 180 +425 + 700 + 270 mid- interval values
or and intention to add.
1600

If not M2 then award
M for

dused consistently
for at least 4 products
within interval
(including end points)
and intention to add
or

for at least 4 correct
products with correct
mid-interval values
with no intention to

add
5+180+425+700+270 M | dep on MI (& their
5+12+17+20+6 products)
1600 NB: accept their 60 if
(%0 ) addition of
’ frequencies is shown
%67 AT [ Accept 26.6-26.7
inclusive
Accept 27if M3
awarded

Do not aceept
fractions or mixed
80
sumbers, g — or
3
265

Total 5 marks
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‘Working

Answer

Mark

Notes

@

3<L=<4

B1

Accept3-4

®)

Eg 054+ 15x5+25x11+
3.5x14+4.5%6

or 2+75+275+49+27

or 113

M2

7 d for at least 4 products
with correct mid- interval
values and intention to add.

If not M2 then award M1 for
d used consistently for at least
4 products within interval
(including end points) and
intention to add

or

for at least 4 correet products
with correct mid-interval
values with no intention fo
add

O05%4+15%5+25%11
+35x14+45x6) =40
or 113 =40

MI

dep on MI (7 their products)
NB: accept their 40 if
addition of frequencies is
shown

Al

Allow 2.82.2.83 or 2.825

Total 5 marks
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Question

‘Working

Answer

Mark

Notes

a

100 <w<
110

B1

b

85%3+95x5+105% 7+ 115

255+475+735+460 + 125

M2

For frequency » mid-interval
for at least 3 products and
summing

Ifnot M2 then award M1 for
multiplying consistently by
value within intervals (eg. end
of interval) and summing
products or mid-intervals used
but not summed.

AT

SC - B2 for an answer of 1025

Total 4 marks
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Q Working Answer  [Mark] Notes
@ ] ® Zm % o8
L2 W for o or
3 A cao
il
® 0.07| 1 | BT Alsoaccept .07
© 31 1 [B1 cao
@ T 1 16, 7 M
eg X 21, 021000 ;
000
3 AT for 3 Also accept 3.4

or3.36

Total 6 marks.
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Question | Working Answer Mark Notes
(6] 2] 1 [B1
() | Numbers i order MI  Ascending o descending order
12,223,457, 3 2 Condone 1 omission.
Al
©0 Tmpossible | 1| B1
() Unlikely | 1| BT
@@ Bl 1 _[BI _ Acceptid
i) E[ T [BI  Acceptl
6] C| T _[BI _ Acceptsn

Total 8 marks
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Working Answer | Mark Notes
1 1 Bl | cao
41+2(=205) or M1
0,0,0,00,1,1,1,1,1,1,1,1,1,1,1,1,1,1,2.2
2 2 Al
Ox5)+(1:)14+2x11+3x6+4 M1
x3+5(x1)or14+22+18+12+5
71 2 Al
M1 10
for — witha>
a
b
10 or — with b
40
<40
10 2 Al
— oe
40

Total 7 marks
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Q ‘Working Ans | Mark Notes.
@ 4% | 1 [BI
® [50-35 2 | M1 for35and 50
5 AL
(0) [ 45%3 +46x7 + 47x12 + 48x23 + 49x4 + 50x1 or 3 |MI foratleast 3 correct
135+ 322 + 564 + 1104 + 196 + 50 or products and summing them
2371
237150 or. MI(dep) for division by 50
45%3+46x7+47x12+48x23+49x4+50(x1) NB. If division by
50 something other than 50 this
must clearly come from
adding the frequency
column
7742 AT Accept 47. 474 i 237130

seen
2371

2
accept 47% but not
5

Total 6 marks|
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Q ‘Working Answer Mark Notes
@ 2 1 [BI
® [8-1 M1
7 2 |a1
© (5+8+5+2+2+1+3+2+8)=0 M1 condone omission
or of brackets
36+9
4 2 |a1
@0 more T |Bl fifiom(©
(@ (i) g7 is eater than the| 1 | BI ft from (c) or new

mean of the original
9 numbers

mean is 4.3

Total 7 marks
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‘Question ‘Working Answer | Mark Notes
@ 1 1 | BI
® 61 2 | Ml For6and ] identified
5 Al
© TD-laBoils MI  orlisting scores and clear attempt to
2 find middle value
2 Al
@ 1%9+2%6 + 3x3 + 5x1 M1 sight of at least 4 products and
+4x6 0e(=67) intention to add (can be their 25 if
evidence of adding frequencies)
3
"67"25 or M1 dep for division of sum of products
9+1249+8+5+24 by 25 (can be their 25 if evidence of
TR adding frequencies)
(allow one emor in a
product)
2.68 or
Al accept 2.7 or 3 if preceded by %
© Ml x ,
X x<25or
2
2
Al aceept 0.08, 8%

Total 10 marks
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Q Mark | Notes
@ 2 [M1  Forlands identified
4 Al
®) 2 |Ml  Forl25orl13
) Al NB: Award MOAO if 2 comes from

calculating the mean (=2.04)

Total 4 marks
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Question|  Working Answer | Mark Notes
@ [10-4 Ml aceept "4 to 107 cte
6] 2 |a1
® 4666789 MI  Numbers in ascending
9 10 7| 2 or descending order.
© |4+6+a+7-8+ MI  Miford+6+4+7+8
9) +a+6+7+7=49+a
)
Ora_ o J o, |
5] 5| 3
or 547 49 Al

Total 7 marks
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Question Working Answer | Mark ‘Notes
@ 20 1 |BI
() | Numbers in order 14. 160, 166, 190. M1 Ascending or descending
192,224 order. Condone 1
178| 2 | Al omission
© Correct BI Eg 14 affects the mean
explanation 1 or 14 does not affect the

‘median

Total 4 marks
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Question

Working

Answer

Mark

Notes

1

7

B2

for 1 7 7 in any order

B1 for three positive whole
numbers with either a
median of 7 or a sum of 15

SC B1 for 0 7 8 in any order

B1

cao

Total 3 marks
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Question

‘Working

Answer

Mark

Notes

3x7@20)

M1

or for 3 numbers wih a total of
2

or 3 numbers with a median of 5
or 3 numbers with a range of 14
or (@+c=)3x7-5 (=16)

1515

Al

‘umbers can be in any order

Total 2 marks.
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Ques Working | Answer | Mark Notes
x=10 3 B1
3+6+x M1 ing that the total of
+y=4
110 <
incorrect x for M1) or
values of ¥ and y that total
35 (where x# 10,
y=25 Al

Total 3 marks





image81.jpeg
Question

Working Answer [Mark |Notes
number

(2x18)+ @ x M2 Mifor 12x 18 (=216)

16.5) (=348) or8x16.5 (=132

348" = 20 174 4 Ml  deponatleast I previous

Al

Al Ratio method

ML 128=32 or
64

Ml 18x3and165x2  or
18x6and165x 4

Ml (183+165x2)+5 or
(18x6+165x4) =10

Al: 174

Al Proportion method
Ml 60 % boys and 40% girls
stated or implied
M2 (06x18)+(04x165)
(=108+66)

M for 0.6x 18 or 0.4 x
165
Al 174

SCBI for 17.1 (from {(8 x 18)
+(12x 16.5)}+20)

Total 4 marks
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‘Question ‘Working Answer Mark Notes
@ @ 69 2 | Bl allow —69
@) %8 Bl allow —98
(b) 235 1 Bl
© - 3 [ Ml Fora complete methiod
s
10 Al

marks
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Answer Mark Notes

2 | M1

19 Al

0 orw="90r 7| M fi from ()

w="19"~10or (can be implied by 9, %, 7, 19

x+y =33-9=24 OR

W, %,3, 2 withx+y=24)
1 Al cao

Total 4 marks





image84.jpeg
Working

Answer

Mark

Notes

1.8.9

B2 Blfor 2.8.8 or 0.8 100r
for three numbers with a mean of 6

or a median of 8
or 63 (=18)

Total 2 marks
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Question Mark | Notes
a MI
or
3 % 21(=63) or 2 x 19(=38)
3x21-2x19 MI_for a complete method
25 3 [Al
b 21920 (=18) or MI fi from (a) for a complete method o
21x3-20-"25" (=18) find age of 3 person
75— 18 MI dep
orfor 1825
7 3 [Al fi fromanswerin (@

Total 6 marks
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Question | Working Answer | Mark [ Notes
eg.30x26.8(=804) or M1 for finding the total
13%25(=325) or marks for the boys or the
(26.8-25)x30 or total test marks
1.8%30
eg (30%x268-13%25)+(30-13) (= M1 for a complete
28.1764..) or method to find the mean
(804'-'325) + (30 - 13) (= 28.1764...) or mark for the girls
(804'-'325'+17) (= 28.1764,

(268-25)%30)+17+25
(=28.1764..) or
1830+ 17+ 25 (= 28.1764..)
282 3 |Alaccept28.15-282

(accept without working)
(Accept 28 from
complete working)

Total 3 marks
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Time taken ( minutes) Frequency
0<1< 10 6
10<1<20 10
20<1<30 19
30<r<40 15
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Question Working Answer | Mark Notes
(@) | (28+32)x726 (= 4356) or 4 [ M1 Expression for
28:75 (= 2100) total of both
classes
together or
total of class A
(28+32)x72.6-28x75 (= M1 Expression for
2256) total of class B.
(28+32)x72.6-28x75 M1 Correct
B calculation for
(="2256" = 32) mean of class B
70.5 A1
() | Highestin A = 39 + 57 3 |M1 for 39+ 57
(= 96) (=96) or 33 +
Highest in B = 33 + 60 60(=93)
(=93)
(39 +57) - 33 M1 or for 33 - "96”
or 33 to "96” oe
63 A1

Total 7 marks
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Question Working Answer|Mark Notes
Number
@) 2 M1
or list of all scores
& Al cao
© |2X2raxsesxia 3 | M1 forsum of products
@ |+6x19+7x10 condone 1 error
or6 +20 +70+ 114 +
70 or 280
280" + 50 M1 (dep) for division by

50





